# **Apartment in Zabbar**



Reference No: 240351001-55638

#### Zabbar, South



€295,000

Total Rooms: 7

Bathrooms: 2

Floor Area (m²): **146** 

P☐ Bedrooms: 3

## **Apartment - For Sale - Zabbar**

Zabbar: A newly constructed three bedroom apartment with one (01) car lock-up garage included in the price. The apartment forms part of a new complex located in haz-?abbar. It is being sold freehold and finished excluding, bathrooms and doors. Located on the edge of the village of Zabbar which will guarantee unobstructed views to the surrounding rural landscape that is so typical of the island's countryside. Apartments are provisioned with generous terraces and natural daylight that will allow residents to enjoy a seamless transition with the outdoors.

### **Features**

- Ceramic Floor
- Gypsum Plastering
- Skirting
- Double Glazed
- Roof Terrace

- Soffit Ceilings
- PVC Piping
- Passenger Lift
- Balcony
- ✓ CCTV

#### Rooms

- Kitchen/Living/Dining: 7.8 x 4.5 m (35.1 m2)
- ✓ Laundry: 1.2 x 1.4 m (1.2 m2)
- Double Bedroom: 3.95 x 3.2 m (12.64 m2)
- ✓ Double Bedroom : 3.2 x 3.7 m (11.84 m2)
- ✓ Bathroom : 2.4 x 2.6 m (4.8 m2)
- Double Bedroom : 3.4 x 3.4 m (11.56 m2)
- Bathroom Ensuite : 1.2 x 3.4 m (4.08 m2)

# **Gallery**









**RE/MAX Malta - BDV Sales** RE/MAX Malta - BDV

M: 22471300

E: bdv@remax.com.mt

T: 22471300

#### **RE/MAX Malta - BDV**

29, Realco Building, Level 1, ,Achille Ferris Street , Msida, Malta